WEST BENGAL MEDICAL SERVICES CORPORATION LTD.

(Wholly Owned by the Government of West Bengal) CIN: U85110WB2008SGC126373

Regd. Off.: Swasthya Sathi, GN-29, Sector-V, Salt Lake, Kolkata-700091

Telephone: (033) 40340300 | Fax: (033) 40340400 E-mail: info@wbmsc.gov.in | Website: www.wbmsc.gov.in

Memo No.: HFW-41012(23)/1/2018-WBMSCL SEC-Dept. of H&FW/AAES-813/4172 Date:12/11/2018

ORDER

Administrative Approval & Expenditure Sanction is hereby accorded for the scheme 'Special repair & renovation work of SNCU unit of Chandannager Sub-Divisional Hospital of Hooghly District' at an estimated cost of Rs. 2,53,443.00 (Rupees Two Lakh Fifty Three Thousand Four Hundred Forty Three) only approved vide AAFS no. HFW-27011/451/2018-NHM SEC Dept of H&FW/SNCU_Chandannagar /R&R/5535 Dated 05/11/2018 under National Health Mission. The details are as follows:

SI:No.	Particulars Particulars	Amount (Rs.)
1	'Special repair & renovation work of SNCU unit of Chandannager Sub- Divisional Hospital of Hooghly District'	2,18,636.00
2	GST@12% on SL No 1	26236.00
3	Cost of Civil works excluding Labour Welfare Cess (SL No 1+ 2)	2,44,872.00
4	Labour Cess @ 1% on SL No 3	2449.00
5	Contingency @ 2.5% on SL No 3	6122.00
	Total:	2,53,443.00

The work will be executed by the Executive Engineer, PWD, Hooghly Division & Ex-Officio Executive Engineer, West Bengal Medical Services Corporation Limited as per norms stated in the order of the Health & Family Welfare Dept., M.S. Branch, vide no. HF/O/MS/384/W-39-12 dt. 01.06.2012 read with Notification No. 86-W(C)-1M-106/11 dt. 06.02.2012 and Memorandum no 37-W(C)-1M-106/11 dated 17.01.2012 of Public Works Department, Government of West Bengal.

Managing Director

Memo No.: HFW-41012(23)/1/2018-WBMSCL SEC-Dept. of H&FW/AAES-813/4172/1(9) Date:12/11/2018 Copy forwarded for information and necessary action to:

- 1. Programme Officer, NHM & Deputy Secretary, Govt of West Bengal
- 2. CMOH, Hooghly
- 3. Superintendent, Chandannager Sub-Divisional Hospital
- **4.** Superintending Engineer, PWD, Western Circle-II & Ex-Officio Superintending Engineer, West Bengal Medical Services Corporation Limited
- 5. Manager (Accounts), West Bengal Medical Services Corporation Limited
- **6. Executive Engineer**, PWD, Hooghly Division & Ex-Officio Executive Engineer, West Bengal Medical Services Corporation Limited
- 7. Consultant Project Engineer (Civil), West Bengal Medical Services Corporation Limited
- 8. Sr P.S to Mission Director, NHM& Secretary, H&FW Dept
- Office Copy



Managing Director

GOVERNMENT OF WEST BENGAL HEALTH & FAMILY WELFARE DEPARTMEN NATIONAL HEALTH MISSION (NHM) 4th FLOOR, SWASTHYA SATHI BUILDING SWASTHYA BHAWAN PREMISES, SECTOR

SALT LAKE, BIDHANNAGAR, KOLKATA – 700 033 – 2333 – 0238, 33 – 2357 – 7930,

Email ID: ponhmwbl@gmail.com; website: www.wbhealth.gov.in

No: HFW-27011/451/2018-NHM SEC-Dept. of H&FW/SNCU_Chandannager/R&R/5535 Dated:

ORDER

Administrative approval and financial sanction is hereby accorded for the scheme 'Special repair & renovation works & anti termite treatment at the SNCU unit of Chandannager Sub-Divisional Hospital of Hooghly District' at an estimated cost of Rs. 3,42,453.00 (Rupees Three Lakh Forty Two Thousand Four Hundred & Fifty Three) only.

The details are as follows:

SI. No.	Name of the Scheme	Estimated Amount (Rs.)	4% administrative charges +GST (In Rs.)	Total Sanctioned Amount (Rs.)
1	Special repair & renovation of SNCU	2,47,321.00	11,558.00	2,58,879.00
2	Anti Termite Treatment in SNCU	79,843.00	3,731 00	83,574.00
	TOTAL	3,27,164.00	15,289.00	3,42,453.00

- The abovementioned sanctioned amount is including an amount of Rs. 15,289.00 as 4% administrative charges payable to West Bengal Medical Service Corporation Limited including GST.
- The above work will be executed by the Executive Engineer, PWD, Hooghly Division & e.o. Executive Engineer, West Bengal Medical Service Corporation Limited.
- Fund will be released after submission of requisition of fund by West Bengal Medical Service Corporation Limited.
- Utilisation Certificate for the above expenditure after release of fund will be submitted to this end in due course.
- Senior Accounts Officer, National Health Mission will be the drawing and disbursing officer in this respect after submission of the requisition of fund.
- The charge will be debitable from the NHM flexi-pool 2018-2019 under Head of Accounts "Maintenance at SNCU" [Tally A/C Head -B.04.01.05.04]
- The work will be completed within 3 (Three) months from the date of issuance of orders in this regard.
- Onsite visit will be conducted by the State Team for inspection of the quality of work.
- No other work will be allowed other than the approved scheme 10.
- Escalation of price for the said scheme will not be approved in any circumstances. 11.
- This is issued with the approval of the Mission Director, National Health Mission & Secretary, 12. Department of Health & Family Welfare, Govt. of West Bengal.
- All concerned are being informed. 13.

Programme Officer & Deputy Secretary to the Government of West Bengal.

No: HFW-27011/451/2018-NHM SEC-Dept. of H&FW/SNCU_Chandannager/R&R/\$535Dated: 05/81/2018

Copy forwarded for information and necessary action to the:-

- 1. Director of Health Services & e.o Secretary, Government of West Bengal.
- 2. Managing Director, West Bengal Medical Service Corporation Limited.
- 3. District Magistrate, Hooghly.
- A. General Manager, West Bengal Medical Service Corporation Limited. One Copy of estimate is enclosed herewith for ready reference.
 - 5. Chief Medical Officer of Health, Hooghly.
 - 6. Manager (Accounts), West Bengal Medical Service Corporation Limited.
 - 7. Senior Accounts Officer, National Health Mission.
 - 8. Dr. B. Roy, Co-ordinating Officer, FBNC Cell.
 - 9. Superintendent, Chandannager Sub-Divisional Hospital, Hooghly.
 - 10. District Programme Co-ordinator, DPMU, Hooghly.
 - 11. Sub-Assistant Engineer, DPMU, Hooghly.
 - 12. Deepak Debnath, SPMU, National Health Mission.
 - 13. Copy for the Guard File

14. Office Copy.

Programme Officer, NHM & Deputy Secretary to the Government of West Bengal.

Receipt No: 318970/2018/NHM SEC(H&FW)

ABSTRUCT COST

Name of the work: - Estimate for Special Repair and renovation work including Ant termite treatment work of SNCU unit at Chandannagar sub Divisional Hospital, Hooghly under Hooghly Division, PWD During the year 2017 – 2018

SI. No	Description of work	Amount
1	Estimate for Special Repair and renovation work of SNCU unit at Chandannagar sub Divisional Hospital, Hooghly under Hooghly Division, PWD During the year 2017 – 2018	Rs 2,54,667.00 2,58,879.00
2	Estimate for Ant termite treatment work of SNCU unit at Chandannagar sub Divisional Hospital, Hooghly under Hooghly Division, PWD During the year 2017 - 2018	Rs 82214.0 0 83,574.50
	TOTAL	Rs-336881.00 3,42,453.00

Junior Engineer, East Section, Hooghly Sub Division No-II Chawk Bazar, Hooghly Assistant Engineer, PWD, Hooghly Sub Division No-II Chawk Bazar, Hooghly

Executive Engineer, P.W.D Hooghly Division,

Chawk Bazar, Hooghly

Superfinentient S. D. Hospital Chandannagar Hooghly

Chief Medical Officer of Health

5 25/1/18

File No.HFW-27011/451/2018-NHM SEC-Dept. of H&FW

Receipt No: 318970/2018/NHM SEC(H&FW)

	Estima										at Chanding the yea				JIVISIOITAI
Pag	e- 64/ SI.	No. 35	T	1 .						T				i.	
nos.	of key sto	ones (1) I with co	0mm) olourin	fixed oxid	with ara le if req	ldite at uired to	the back of	f each tile colour of	& finishing iles includ	the joing rou	existing wor ints with while ughening of				
(D)b	ii Wall														
							vsei v &e E er existing			pogin	notiuntg poin	ting			
(b) A	rea of ea	ch tile a	bove	0.09 8	Sq.m			10-0							
(ii) v	vhite	1:1										/			
 		1.	х		1	X	16.25	х	1,10] =	17.875	sqm	 		
 	1	1	х		1	×	5.60	×	1.10	-	6.160	sqm			
1	1 -	1	x		1	х	11.20	x	1.10	=	12.320	sqm			
†		1	x		1	×	3.20	×	1.10	=	3.520	sqm			
1		1	×	\vdash	1	×	5.50	×	1.10		6.050	sqm			
+	+	1	x	-	1	x	8.80	x	1.10	1	9.680	sqm		 	
+	-	1					10.70			=	11.770	sqm		-	
 -			X		1 ~	X		, X	1.10	 =	12.540	sqm			
ļ		1	×		2	X	5.70	×	1.10	<u> = </u>					′
<u> </u>		1	X		1	X	3.50	х	1.10	=	3.850	sqm			
											83,765	mpa			
						1	83.765	sqm	@	Rs	1084.00	per	Sqm.	Rs	90801.00
appro	oved mak	e & DIA	IG.(1.	o min	1	x	5.60	x	11.20	=	62.720	sqm		-	·.
					1	×	8.80	X	5.50	=	48.400	sqm			
					1	X	10.70	X	5.70	=	60.990				
_	+				2	X	5.50	X	1.10	=	12.100 184.210			_	
 	1						184.210	sqm	@	Rs	122:00		Sqm.	Rs	22473.62
Page	- 195 / SI	. No. 7	<u>b ii</u>												
old o	r new sur including	face to a scrapir	receive ng and	e dece I prepa	orative t aring th	extured e surfac		n) or smoo	th finish a	crylic	encrete surfa exterior emu cturer's				
speci	fication a	nd as p	er dire			of putty	. 0520					200			
	Doctor	s Cham	her		1	,			 	T	184.210	sqm		<u> </u>	
<u> </u>	DOCKOT:	- CHAIN	Del.			X	3.70	X	2.70	=	9.990			<u> </u>	
 	Nurse C	namba-			1	X	16.00	X	1.10	=	17.600	sqm		-	
<u> </u>	Nurse Cl	iainder			1	X	2.65	×	3.25	=	8.613				
<u> </u>	1	1			1	Х	16.00	X	1.10	=	17.600	sqm		 	
ļ	Coori	aor			1	Х	27.00	×	2.50	=	67.506				
					1	х	56.00	×	1.10	=	61.606	sqm		<u> </u>	
<u> </u>	La	0			1	Х	3.13	×	8.80	=	27.506				
<u> </u>					1	×	8.80	х	1.10	=	9.680				
	Mother's	Room			1	. X	6.70	X	8.95	=	59.965	sqm			
					1	х	31.30	×	1,10	=	34.430	sqm			
	Mother's	Toilet			1	х	2.70	х	5.30	=	14.310				
					2	X	16.00	х	1.10	=	35.200	sqm			
	1										548.198			1	
							548.198	sqm	·		48.50			Rs	26587.58

Receipt No: 318970/2018/NHM SEC(H&FW)

Cheked by

12.07.18. AE(Gyl), WBMS(L.

Faue	~ ZU (/ S	SI. No. 4	11	1			-					1			
Apply	ing Acr	ylic Emu	Ision I	Paint	of appro	ved ma	ke and bra	nd on wall	s and ceil	ing inc	luding sand	1	1	1	
											of Superinten	ding			
Engir	ieer) : T	wo Coa	S												
	T :	T	Τ	T -	Area as	of prin	ner area				5400	sqm		+-	
	+	+	 	 	(" " " " " " " " " " " " " " " " " " "	, o, p					548.198	-	 	┼	
									· · · · · · · · · · · · · · · · · · ·						
		1			1			'			548.198				
							548.198	sqm	@	Rs	70.00	per	Sqm.	Rs	38373.86
Page	-45/S	. No. 5			İ .						(2		1		
Clean	ing the	concrete	a curfs	aca by	removi	no dirt s	nd debrie	marking d	lefective la	reation	ns and remov	ina.	-	├	-
loose wire b	concre rushing	te by car	eful s	trippir	ng untill l	hard su	rface is exp	osed, cuti	ing the co	ncrete	to regular si ection of the				
	T	T	T	T	2	×	16.05	х	4.40	T	25.750	sqm			
	+		 	 	1		16.25		1.10	 =	35.750	<u> </u>	1		
			<u> </u>	L		×	8.80	X	1.10	=	9.680	sqm	<u> </u>		
		1]	1	X	3.20	x	1.10	_	3.520	sqm			
	Ť	1			1	×		х		1_		sqm	1		
	 	+	 		2		10.70		1.10	╀	11.770				
	ļ				-	×	5.70	Х	1.10	<u>↓=</u>	12.540	sqm		<u> </u>	
	1	1						·		1	73.260		-		1
		1	 				70.000	sqm		1_		nor	Sqm.	Rs	6593.40
	1	1 .	1			<u> </u>	73.260		@	Rs	90.00		<u> </u>		
2000	42 / 81	No 26	<u> </u>				1 1			1		1	1		
Hire a stout poeams	nd labo props a s and co	nd thick olumns,	es for hard v lintels	vood curve	planks o ed or stra	f approraight inc	ved thickne cluding fittir	ess with re ng, fixing a	quired bra and striking	cing f	using appro or concrete s after completi	labs,			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns,	es for hard v lintels 37 mr	vood ourve	planks o ed or stra	f approraight inc	ved thickne	ess with re ng, fixing a	quired bra and striking	cing f	or concrete s	labs, on of			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks o ed or stra	f approraight inc	ved thickne cluding fittir	ess with re ng, fixing a	quired bra ind striking &	cing for	or concrete s	labs, on of			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks o ed or stra k woode	f approvaight income shutter	ved thickne cluding fittir ering as pe	ess with reing, fixing a redecision	quired bra and striking & 1.50	cing for	or concrete s after completi	labs, on of (b) sqm			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks o ed or stra k woode	f approvaled from the shutter of the	ved thickned	ess with re	quired bra and striking & 1.50	cing for a court a	or concrete s after completi 24.375 6.150	labs, on of (b) sqm			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks o ed or stra k woode 1 1	f approvated and approved the shutter of the shutte	ved thickned	ess with reng, fixing a redecision	quired bra and striking 4 1.50 1.50 1.50	cing for out a	24.375 6.150 14.550	labs, on of (b) sqm sqm			
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks of ed or strack woode 1 1 1 1	f appropaight income shutted x x x x x x	ved thickned	ess with reng, fixing a redecision	4 1.50 1.50 1.50 1.50	cing for out a	24.375 6.150 2.250	sqm sqm			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 1	f approvaight incompany of the shutter of the shutt	ved thickned	ess with reng, fixing a redecision	1.50 1.50 1.50 1.50 1.50	cing for out a	24.375 6.150 14.550 2.250 8.250	labs, on of (b) sqm sqm sqm sqm			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks of ed or strack woode 1 1 1 1	f appropaight income shutted x x x x x x	ved thickned	ess with reng, fixing a redecision	4 1.50 1.50 1.50 1.50	cing for a contract of the con	24.375 6.150 14.550 2.250 8.250	labs, on of (b) sqm sqm sqm sqm			
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	f approvalent income shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80	ess with reing, fixing a redecision x	1.50 1.50 1.50 1.50 1.50 1.50	cing for	24.375 6.150 14.550 2.250 8.250 16.050 12.600	sqm sqm sqm sqm sqm sqm sqm sqm			
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70	ess with reing, fixing a redecision x	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing for a contract of the con	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500	sqm sqm sqm sqm sqm sqm sqm sqm			
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reing, fixing a redecision x	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425	labs, on of (b) sqm sqm sqm sqm sqm sqm sqm sqm			
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20	ess with reing, fixing a redecision x	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing figure and a second secon	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500	labs, on of (b) sqm sqm sqm sqm sqm sqm sqm sqm		Rs	33806.48
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 6.050 16.050 12.600 4.500 97.425 347.00	sqm sqm sqm sqm sqm sqm sqm sqm		Rs	
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00	labs, on of (b) sqm	Sqm.	Rs	218635.93
Hire a stout p peams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00	sqm	Sqm.	Rs	218635.93 26236.31
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi	sqm	Sqm.	Rs	218635.93 26236.31 244872.25
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvaled to a shutter of the shu	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces	sqm	Sqm.	Rs	218635.93 26236.31 244872.25 2448.72
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces	sqm	Sqm.		218635.93 26236.31 244872.25 2448.72 247320.97
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	4 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUI Add 1% ces	sqm	Sqm. SST AL al		218635.93 26236.31 244872.25 2448.72 247320.97 7346.17
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	quired bra and striking & 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50 0 0	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces Se Add-3%	sqm	Sqm. SST AL al ngency		218635.93 26236.31 244872.25 2448.72 247320.97 7346.17 254667.14
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	quired bra and striking & 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50 0 0	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces Se Add-3%	sqm	Sqm. SST AL al ngency		218635.93 26236.31 244872.25 2448.72 247320.97 7346.17 254667.14
Hire a stout p beams works Above	nd labo props a s and co	ur charg nd thick olumns, n & upto	es for hard v lintels 37 mr	vood ourve	planks oped or strack woode 1 1 1 1 1 1 2	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	quired bra and striking & 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50 0 0	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces Se Add-3%	sqm	Sqm. SST AL al ngency		218635.93 26236.31 244872.25 2448.72 247320.97 7346.17 254667.14
Hire a stout p peams vorks Above	nd labo props a s and co 30 mm on of E	ur charg nd thick olumns, n & upto	es for hard vilintels 37 mr In-Cha	wood curve m thic arge.	planks oped or strack woode 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	f approvalent in a shutter x x x x x x x x x x x x x x x x x x x	16.25 4.10 9.70 1.50 5.50 5.80 10.70 4.20 3.00	ess with reng, fixing a redecision X X X X X X X X X X X X X	quired bra and striking & 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50 0 0	cing fig out a	24.375 6.150 14.550 2.250 8.250 8.700 16.050 12.600 4.500 97.425 347.00 To Add SUi Add 1% ces Se Add-3%	sqm	Sqm. SST AL al ngency		218635.93 26236.31 244872.25 2448.72 247320.97 7346.17 254667.14

Consultant Project Eng. (Civil)
West Bengal Medical Services Corporation

File No.HFW-27011/451/2018-NHM SEC-Dept. of H&FW

Receipt No : 318970/2018/NHM SEC(H&FW)

	CI M	4.4 -	1	1	1			1	1						
1 Page- 9			1	<u> </u>	<u></u>		<u></u>	<u> </u>	<u> </u>	1		<u> </u>			
spider, t emulsifia chemica fixture,e	ermites, able cond I @ 0.5 I ectrical I I solution	mosquit centrate litres pe lines inc n into the	toes) toes) toes) toes) toes) toes (1% of the contraction of the contr	to wa cond by a drilli s and	lls and contration in the contration in the contration in the contract of the	eiling et n) with v perated inplace the hol	tc. with che water by we pressure p es where so	mical emu eight includ oump on vource of te	ulsion by ac ding sprayi vall surface rmite is de	Imixin ng the s, ceil tected	s, silverfish, g chloropyro emulsified ing, electrical squirting m. of the floo	d ·			
area wiii	ic actua	1	x	ali wa	1	y, rack	T	X	1 4466	T		sqm	ļ	╂╾╌┨	
 -		 	X	 	1	X	5.60	×	11.20	=	62.720	sqm		\vdash	****
+	1	1	X	╂	1	X	8.80	×	5,50 5.70	=	48.400 60.990	sam			
		1	×		1	×	10.70 3.70	x	2.70	=	9.990	sqm			
	 	1	X	 	1	X	2.65	×	3.25	=	8.613	mpa			
 	 	1	×	\vdash	1	X	27.00	×	2.50	=	67.500	sqm		\vdash	
1		1	 	-	-	 	3.13		8.80	 	27.544	sqm		\vdash	
 	-	 	X	 	1	X		· X		=	119.930	sqm		┝─┤	
-	-	1	×	-	2	X	6.70	X	8.95	=	14.310	sqm		$\vdash \vdash$	
	1	1	×		1	X	2.70	X	5.30	=		sqm	-	\vdash	
		<u> </u>	ļ						l .		419.997	per	Com	 	
Dana 8	I CL No	44.4	ļ			say	420.000	sqm	@	Rs	49.00	pei	Sqm.	Rs	20580.00
Page- 8			<u> </u>			<u> </u>			h chemical						
angle of these ho I.S6313 fixtures li	about 45 les at the (Part-III ke almira	oints of a degree of rate of 1981. The same of the sam	contact the half little the same the half little the same the half little the	ct with e junc itre po hutte :. are	n the adjustion of version of version of version of the additional to the additional	oining revoodword The enting be sprage	nasonry by rk and mas ire work is t ayed with e ghly spraye	drilling 6r conry and to be carri mulsion. c	n. dia holes squirting ched out as p on both side	s at a nemica er spa es. All	downward al emulsion in acification of	Code			
angle of these ho I.S6313 fixtures li	at the post about 45 les at the (Part-III ke almira	oints of a degree of rate of 1981. The same of the sam	contact the half little the same the half little the same the half little the	ct with e junc itre po hutte :. are	the adjustion of ver hole. The are to also to burements	oining revoodword The enting be sprage	nasonry by rk and mas ire work is t ayed with e	drilling 6r conry and to be carri mulsion. c	n. dia holes squirting ched out as p on both side	s at a nemica er spa es. All	downward al emulsion in ecification of wooden	Code			
angle of these ho I.S6313 fixtures li	at the post about 45 les at the (Part-III ke almira	oints of a degree of rate of 1981. The same of the sam	contact the half little the same the half little the same the half little the	ct with e junc itre po hutte :. are	n the adjuition of very hole. The sare to also to burners to burne	oining noodword of the enting the sprage through the sprage of the enting of the enting the entire e	nasonry by rk and mas ire work is ta ayed with e ghly spraye rs and winc	drilling 6r conry and to be carri mulsion. c ed with ch dows	n. dia hole: squirting ched out as p on both side emical emu	s at a nemica per spa es. All ulsion.	downward al emulsion in ecification of wooden (Payment w	Code ill be sqm			
angle of these ho I.S6313 fixtures li	at the post about 45 les at the (Part-III ke almira	oints of a degree of rate of 1981. The same of the sam	contact the half little the same the half little the same the half little the	ct with e junc itre po hutte :. are	the adjustion of ver hole. The are to also to burements	oining navoodword The entite be sprage through of doo	nasonry by rk and mas ire work is re ayed with e ghly spraye rs and wind	drilling 6r conry and to be carri mulsion. c ed with ch dows X	n. dia holes squirting ched out as p on both side emical emu	s at a nemica per spo es. All ulsion.	downward al emulsion in ecification of wooden (Payment w 28.116 3.712	code ill be sqm sqm			
angle of these ho I.S6313 fixtures li made on	at the po about 45 les at the (Part-III ke almira the basi	oints of degree e rate of)-1981. ahs, rac	contact the half little the same the half little the same the half little the	ct with e junc itre po hutte :. are	the adjustion of ver hole. The are to also to burements	oining navoodword The entite be sprage through of doo	nasonry by rk and mas ire work is re ayed with e ghly spraye rs and wind	drilling 6r conry and to be carri mulsion. ded with ch dows	n. dia holes squirting ched out as p on both side emical emu	s at a nemica per spo es. All ulsion.	downward al emulsion in ecification of wooden (Payment w 28.116 3.712	code ill be sqm sqm	-Sqm.	Rs	1941.48
angle of these ho I.S6313 fixtures li made on	at the poabout 45 les at the (Part-III ke almirathe basi	bints of a degree erate of object of the control of	contact at the at the half li	et with e junc itre pe hutte :. are neasu	n the adjution of ver hole. The sare to also to burements 14	oining r	nasonry by rk and mas ire work is ayed with e ghly spraye rs and wine 1.39 1.38	drilling 6r sonry and to be carri mulsion. ded with ch dows x x	n. dia holes squirting ch ed out as p on both side emical emi 1.45 2.69	s at a nemical ser sports. All alsion.	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00	code ill be sqm sqm		Rs	1941.48
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	bints of a degree erate of older and of out- 11 c 11 c The ment to degree erate of out- 12 c 13 c 14 c 15 c 16 c 17 c 17 c 18 c 19 c	contact at the half lift The sks etc side not the scott floor the half lift the scott floor the half lift the half	ct with the property of the pr	n the adjution of ver hole. The adjution of ver hole. The adjution of ver hole. The also to be also	oining no voodword The entitle be sprace through of doo x x x x with chewith was 300mm. Into the sealed is	nasonry by rk and mas ire work is ayed with e ghly spraye rs and wine 1.39 1.38 31.828 emical emu ater by weig interval to pump to so after opera	drilling 6r conry and sto be carriumulsion. Ced with chedows x sqm alsion by a ght includir reach the quirt chem tion to ma	n. dia holes squirting ch ed out as p on both side emical emi 1.45 2.69 dmixing ch ng drilling v soil below ical emulsi	Rs loropy vertical using on into exist	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 rrofos Ily 12mm. hand operate to the holes a ing floor. The	Code sqm sqm per ed t the		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	bints of a degree erate of older and of out- 11 c 11 c The ment to degree erate of out- 12 c 13 c 14 c 15 c 16 c 17 c 17 c 18 c 19 c	contact at the half lift The sks etc side not the scott floor the half lift the scott floor the half lift the half	ct with the property of the pr	n the adjution of ver hole. The adjution of ver hole. The adjution of ver hole. The also to be also	oining no voodword The entitle be sprace through of doo x x x x with chewith was 300mm. Into the sealed is	nasonry by rk and mas ire work is layed with e ghly spraye rs and wine 1.39 1.38 31.828 emical emu ater by weig interval to pump to so after opera aid down ir	drilling 6r conry and sto be carriumulsion. Ced with chedows x sqm alsion by a ght includir reach the quirt chem tion to ma	m. dia holes squirting ched out as pon both side emical emu 1.45 2.69 dmixing chang drilling value soil below ical emulsitch with the 1.4 of code	Rs loropy vertical using on into exist	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 rrofos Illy 12mm. hand operate to the holes at ing floor. The	Code sqm sqm per ed t the		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	obints of a degree erate	the so chemic	ct with the property of the pr	n the adjution of ver hole. The adjution of ver hole. The adjution of ver hole. The are to also to be the are the ar	oining no voodword the entire be sprage through of doo x x x x x x x x x x x x x x x x x x	nasonry by rk and mas ire work is ayed with e ghly spraye rs and wine 1.39 1.38 31.828 emical emu ater by weig interval to pump to so after opera	drilling 6r sonry and sto be carrismulsion. Ced with chedows x sqm alsion by a spht including reach the quirt chement in para 4.3.	n. dia holes squirting ched out as pon both side emical emu 1.45 2.69 @ dmixing cheng drilling value soil belowical emulsitch with the	Rs Rs Rs Rs Rs Rs Rs	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 rrofos Ily 12mm. hand operate to the holes a ing floor. The	sqm sqm per ed t the		Rs	1941.48
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	oints of a degree e rate of a)-1981. ahs, rac is of out	the so them in the half limited at the so them in the half limited at the so them in the half limited at the half limited at the so them in the half limited at the ha	ct with the property of the pr	the adjution of ver hole. It is are to also to burements 14 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	with che with was 300mm.	nasonry by rk and mas ire work is ayed with e ghly spraye rs and wind 1.39 1.38 31.828 emical emu atter by weig interval to pump to so after opera aid down ir 5.60 8.80 10.70	drilling 6r sonry and to be carriumulsion. Ced with chedows x sqm alsion by a ght including reach the quirt chement iton to main para 4.3. x	m. dia holes squirting ched out as pon both side emical emu 1.45 2.69 @ dmixing chang drilling value emulsi tch with the 1.4 of code 11.20 5.50 5.70	Rs loropy vertical using on into existe I.Se	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 crofos lly 12mm. hand operato the holes a ing floor. The 3313 62.720 48.400 60.990	code ill be sqm sqm per ed t the e sqm sqm		Rs	1941.45
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	bints of a degree erate	the so (1% contains the so	ct with the property of the pr	the adjution of ver hole. The adjution of ver hole. The adjution of ver hole. The adjution of ver hole also to be the adjution of the adjution	oining no voodword the entitle be sprace through of doo with the with was 300mm. Into the sealed a cation late with the sealed and the sealed	nasonry by rk and mas ire work is ayed with e ghly spraye rs and winc 1.39 1.38 31.828 emical emu ater by weig interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70	drilling 6r conry and to be carriumulsion. Ced with chidows x sqm alsion by a ght including reach the quirt chement to man an para 4.3.	m. dia holes squirting ched out as pon both side emical emulation of the emulati	Rs loropy vertical using the Exist et al. S	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 crofos lly 12mm. hand operate to the holes at ing floor. The 3313 62.720 48.400 60.990 9.990	sqm sqm ed t the e sqm sqm sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	obints of a degree erate of a)-1981. ahs, rac is of out: 11 c ment to centrate unction co squirt cer hole. be carried to 1 1 1 1 1	the so them in the half limited at the so them in the half limited at the so them in the half limited at the half limited at the so them in the half limited at the ha	ct with the property of the pr	the adjution of ver hole. The same to also to burements the formulation of the same to also to burements the same to burements the same to burements the same the sam	with che with was 300mm.	nasonry by rk and mas ire work is ayed with e ghly sprayers and wind 1.39 1.38 31.828 emical emuater by weig interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65	drilling 6r sonry and to be carriumulsion. Ced with chedows x sqm alsion by a ght including reach the quirt chement iton to main para 4.3. x	m. dia holes squirting ched out as pon both side emical emu 1.45 2.69 dmixing cheng drilling was oil below ical emulsitate the with the 1.4 of code 11.20 5.50 5.70 2.70 3.25	Rs loropy vertical using on into existe I.Se	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 crofos lly 12mm. hand operato the holes a ing floor. The 3313 62.720 48.400 60.990 9.990 8.613	sqm sqm sqm sqm sqm sqm sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	coints of a degree or rate of a degree of a de	the social	ct with the property of the pr	the adjution of ver hole. Its are to also to burements 14 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	oining no voodword the entitle be sprace through of doo with the with was 300mm. Into the sealed a cation late with the sealed and the sealed	nasonry by rk and mas ire work is layed with e ghly sprayers and wind 1.39 1.38 31.828 emical emulater by weight interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65 27.00	drilling 6r sonry and sto be carrismulsion. Ced with chedows x sqm alsion by a spht including reach the quirt chemetion to many and a 4.3. x x x	m. dia holes squirting ched out as pon both side emical emulation of the emilation of the emila	Rs loropy vertical using on into exist exist.	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 errofos lly 12mm. hand operato the holes a sing floor. The 3313 62.720 48.400 60.990 9.990 8.613 67.500	sqm sqm sqm sqm sqm sqm sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	to the second se	the so the double was a contact of the so the mid out the so the so the mid out the so	ct with the property of the pr	the adjution of ver hole. The adjution of the ad	with che with was sold in the sealed in cation in the sealed in the seal	nasonry by rk and mas ire work is layed with e ghly sprayers and wind 1.39 1.38 31.828 emical emulater by weigh interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65 27.00 3.13	drilling 6r sonry and to be carrismulsion. Ced with chedows x sqm alsion by a ght including reach the quirt chement ion to main para 4.3. x x x	m. dia holes squirting ched out as pon both side emical emu 1.45 2.69 dmixing chang drilling was oil below ical emulsitch with the 1.4 of code 11.20 5.50 5.70 2.70 3.25 2.50 8.80	Rs loropy vertical using on into the exist of I.Se	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 crofos lly 12mm. hand operato the holes a sing floor. The 3313 62.720 48.400 60.990 9.990 8.613 67.500 27.544	sqm sqm sqm sqm sqm sqm sqm sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	coints of a degree or rate of a degree of a de	the social the double of the social the soci	ct with the property of the pr	the adjution of ver hole. Its are to also to burements 14 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	oining revoodword revoodword revood word revolution of the entire revolution of the entire revolution of the entire revolution of the with war with war word revolution like the entire revolution of the sealed recation like revolution of the sealed revolution of the seale	nasonry by rk and mas ire work is layed with e ghly sprayers and wind 1.39 1.38 31.828 emical emulater by weight interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65 27.00	drilling 6r sonry and sto be carrismulsion. Ced with chedows x sqm alsion by a spht includir reach the quirt chem to man para 4.3. x x x	m. dia holes squirting ched out as pon both side emical emulation of the emilation of the emila	Rs exists at a nemical ser sport sport ser sport ser sport ser sport ser sport ser sport ser	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 770fos Illy 12mm. hand operato the holes a ing floor. The 3313 62.720 48.400 60.990 9.990 8.613 67.500 27.544 119.930	sqm sqm ed t the e sqm sqm sqm sqm sqm sqm sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	to the second se	the so them in the half limit is so that the so them in the half limit is so that is so th	ct with the property of the pr	the adjution of ver hole. The adjution of the ad	with che with was sealed cation la	nasonry by rk and mas ire work is layed with e ghly sprayers and wind 1.39 1.38 31.828 emical emulater by weigh interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65 27.00 3.13	drilling 6r conry and to be carrismulsion. Ced with chedows x sqm alsion by a ght including reach the quirt chemetion to man para 4.3. x x x x x x x x	m. dia holes squirting ched out as pon both side emical emu 1.45 2.69 dmixing chang drilling was oil below ical emulsitch with the 1.4 of code 11.20 5.50 5.70 2.70 3.25 2.50 8.80	Rs loropy vertical using on into exist exist.	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 crofos lly 12mm. hand operato the holes a sing floor. The 3313 62.720 48.400 60.990 9.990 8.613 67.500 27.544	sqm		Rs	1941.49
angle of these ho I.S6313 fixtures li made on Page-8 Anti-term emulsifia dia holes pressure rate of or	at the post about 45 des at the (Part-IIII ke almirathe basin basi	ints of a degree erate e	the social control con	ct with the property of the pr	the adjution of ver hole. The adjution of ver hole and the adjution of the adjut	oining no voodword the entitle be sprace through of doo x x x x x x x x x x x x x x x x x x	nasonry by rk and mas ire work is layed with e ghly sprayers and wince 1.39 1.38 31.828 emical emulater by weigh interval to pump to so after opera aid down ir 5.60 8.80 10.70 3.70 2.65 27.00 3.13 6.70	drilling 6r sonry and sto be carrismulsion. Ced with chedows x sqm alsion by a spht including reach the quirt chement to man para 4.3. x x x x x x x x	m. dia holes squirting ched out as pon both side emical emulation of the emulation	Rs loropy vertical using on into the exist to exist the exist to exist the e	downward al emulsion in ecification of wooden (Payment w 28.116 3.712 31.828 61.00 770fos Illy 12mm. hand operato the holes a ing floor. The 3313 62.720 48.400 60.990 9.990 8.613 67.500 27.544 119.930	sqm		Rs	1941.49

File No.HFW-27011/451/2018-NHM SEC-Dept. of H&FW

Receipt No: 318970/2018/NHM SEC(H&FW)

	Page-7/	SI. No.	11 b		T											
4	emulsifial or mason	ole cond ry apro	centrate n at an	(1% o	conce al of 3	entration) 800mm. to	with wa	ater by weighth, of 300m	ght, drillin nm or mor	g 12mm. di e as close	a hole to the	hloropyrofos es in concrete plinth wall a	e s			
												rate of 2.25 3 (Part-III)-19				
	- 4					1	X	2.00	×	41.89	=	83.780	m			
						1	×	2.00	X	12.33	=	24.660	m			
]							T	108.440				
								108.440	m	@	Rs	83.00	per	m	Rs	9000.52
			1									(1)				
	1.5			T					10.00	1		To	tal			70582.01
				1								Add	12% (GST		8469.84
				1								SU	в тот	AL		79051.85
	· · · · · · · · · · · · · · · · · · ·											Add 1% ces	S.			790.52
٦			1	1						1		St	ub Tot	Al		79842.87
												Add 3%	cont	ngency	,	2371/56
												N	et Tota	al		82218.92
٦																8/2214

Add 41/1 administrative charge- 3162.90

Add GST@18% of 41 management

10es- 267.168

Sub Assistant Engineer, P.W.D East Section

Section Hooghly Sub Division No-II Chawk Bazar, Hooghly Assistant Engineer, P.W.D Hooghly Sub Division No-II Chawk Bazar, Hooghly

Executive Engineer Hooghly Division P.W.L.

RS. 83,574.6

Checked by,

A.E (Civil) WBMSCL.

Consultant Project Eng. (Civil)

Consultant Project Eng. (Civil)

West Bangal Medical Services Corporation Ltd.